4( Properties of division: How multiplication is related to division )7

roperty 1: Any number divided by itself gives | as|its quotient.
56 + 56 = »
roperty 2 : ny number divide by 1 gives itself as quotient.
17 =1=17
roperty % : O divided by any number (except O) gives zero as the quotient
0+25= b
roperty 4 : ivision is the inverse of multiplication. 6 x3=18
18+3=
18+6=23
If 28 +4 =7, s0... 7 X =2 Find the inverse relation (s) of 8/ x 7 = 56
f49 x 7 = 343, so... 343 + =7 fep0+12 =55, s x 55 =660
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roperty 1: Any number divided by itself gives | as|its quotient.
56 + 56 = »
ropernty 2 : ny number divide by 1 gives itself as quotient.
17 +1=17
Property 3 : 0 divided by any humber (except O) gives zero as the quotient
0 +|25 & . > )
roperty 4 : ivision is theinverse of multiplication. 6 x/3 =18 \ ‘
18+3=6 “F
18+6=23
If 28 +14 = 7 so... 7 x = 2 Find the inverse relation (s) of 8 x 7 = 56
Since division is the inverse of multiplication Since division is the inverse of multiplication,
So,lif we have 28 + 4 =7 it implies that, if we have! 8 x| 7 = 56, then, the
then, its inverse relations will be nverse relations of 8 x 7 = 56 will be
7x4=280r4x7 =28 6+7=
You see that the first expression has the or
missing number which is/ 4 6+8=7
f 49 x|7 = 343, so... 343 + =7 If 660 +12 =55, so. x 55 = 66
if we have 49 x 7 = 343 if we have 660 +12 =55
then, its inverse relations will be then, its inverse relations will be
343 + 7 =49 or 343 = 49 = 12 x 55 = 660 or 55 x12 = 660
You see that the second explression has the You see that the first expression has the
missing humber which is' 49 issing number which is 12
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